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R  S  M  S            Code No. : 13 / PB / EC 

FIRST PRE-BOARD EXAMINATION 2013 
SUBJECT – ECONOMICS 

CLASS – XII 

 

• Please check that this question paper contains 4 printed pages 

• Please check that this question paper contains 32 questions 

• Please write down the Serial Number of the Question before attempting it. 

• Ñi;k tk¡p dj ysa fd bl iz'u i=k esa eqfnzr i`"B 4 gSa A 
• Ñi;k tk¡p dj ysa fd bl iz'u i=k esa 32 iz'u gSa A 
• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksa A 

 
Roll No. : ……………        Time Allowed : 3 Hours 

Class : ……………….           Maximum Mark : 100 

SECTION – A   /    [k.M & v 

1. Define economic cost                 1 

 vkfFkZd ykxr dks ifjHkkf"kr dhft, A 
2. What is ‘Budget Line’ ?                 1 

 ctV js[kk D;k gS \ 

3. Define shut – down point of a firm ?               1 

 ,d QeZ dk mRiknu cUn fcUnq ifjHkkf"kr dhft, A 
4. When does TR curve takes the shape of inverted vertical parabola ?        1 

 TR oØ fdl voLFkk esa mYVk mèokZdkj ijoy; ds :i esa fu:fir gksrk gS\ 

5. State one reason responsible for diminishing returns of an input ?           1 

 ,d vkxr ds ?kVrs izfrQy ds fy, mÙkjnk;h dksbZ ,d dkj.k nhft, A 
6. How does the shape of Production Possibility frontier is decided graphically ?        3 

 fp=kh; fu#i.k esa lhekUr mRiknu laHkkouk dh vkÑfr dk fu/kZj.k fdl izdkj gksrk gS\ 

7. Suppose there are two consumers in the market for a good and their demand functions are as follows:

1d (p) 20 p= -  for any price less than or equal to 15 and 1d (p) 0=  at any price greater than 15. 

 2d (p) 30 2p= -  for any price less than or equal to 15 and 2d (p) 0=  at any price greater than 15. 

 Find out the market demand function.           3 

 eku yhft, cktkj esa ,d gh oLrq ds fy, nks miHkksDrk gSa rFkk muds ek¡x Qyu bl izdkj gS 
 1d (p) 20 p= -  fdlh Hkh ,slh dher ds fy, tks 15 ls de ;k cjkcj gks rFkk 1d (p) 0=  fdlh ,slh 

dher ds fy, tks 15 ls vf/d gks A  

2d (p) 30 2p= -  fdlh Hkh ,slh dher ds fy, tks 15 ls de gks ;k cjkcj gks rFkk 2d (p) 0=  fdlh 

,slh dher ds fy, tks 15 ls vf/d gks] cktkj ek¡x Qyu dks Kkr dhft, A 
8. When does a production function satisfy an increasing returns to an input ?          3 

 ,d mRiknu Qyu ,d vkxr ds c<+rs gq, izfrQy dks dc lUrq"V djrk gS \ 
9. Will a profit – maximizing firm in a competitive market ever produce a positive level of output 

 in the range where the marginal cost is falling ? Give an explanation.            3 
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D;k ,d izfrLi/hZ cktkj esa ykHk&vf/drehdj.k QeZ ldkjkRed fuxZr Lrj ij mRiknu dj ldrh 
gS tc lhekUr ykxr ?kV jgh gks] O;k[;k dhft, A   OR / vFkok 

 State any three features of an oligopoly firm. 

 ,d vYikf/dkjh QeZ dh rhu fo'ks"krk,¡ crkb, A 
10. Explain why the shape of an Indifference curve is convex to the origin ?          3 

 mnklhurk oØ ewy fcUnq dh vksj mUurksnj D;ksa gksrk gS] O;k[;k dht, A 
11. The market price of a good changes from ì   5 to ì   4. As a result, the quantity demanded rises by 12 

units. The price elasticity of demand is ( - ) 1.5. Find the initial and final quantity.         4 

 ,d oLrq dh cktkj dher 5 : izfr bdkbZ ls ?kVdj 4 : izfr bdkbZ gks tkrh gS ftlds ifj.kkeLo:i 
ek¡x dh ek=kk esa 12 bdkb;ksa dh o`nf/ gks tkrh gS] ;fn ek¡x dh yksp dk xq.kkad (&) 1-5 gks rks oLrq 
dh izkjfEHkd ,oe~ ifjofrZr ek¡x Kkr dhft, A 

12. How does an increase in the price of an input affect the supply curve of a firm ? Use diagram  

 vkxrksa dh dher esa o`nf/ dk vkiwfrZ oØ ij D;k izHkko iM+rk gS] js[kkfp=k dk iz;ksx dhft, A 
OR/ vFkok 

 How does the imposition of a unit tax affect the supply curve of a firm ? Use diagram.      4 

 bdkbZ dj yxkus ls ,d QeZ dk vkiwfrZ oØ fdl izdkj izHkkfor gksrk gS \ js[kkfp=k dk iz;ksx 
dhft,A 

13. Explain the relation between marginal revenue and average revenue when firm is able to sell more 

quantity of output :                  4 

 (i) at the same price  (ii) only by lowering the price 

 lhekUr lEizkfIr ,oe~ vkSlr lEizkfIr esa lEcU/ crkb, tc ,d QeZ mRiknu dh vf/d ek=kk csp 
ldrh gS 

 (i) ,d leku dher ij  (ii) dherksa esa deh djus ds i'pkr 
14. What do you understand by optimal choice of a consumer ? Explain how a consumer attains this 

optimal choice ? Use Diagram.                6 

 miHkksDrk ds b"Vre p;u ls vki D;k le>rs gSa\ crkb, fd ,d miHkksDrk b"Vre p;u dh fLFkfr 
dks dSls izkIr djrk gS \ js[kkfp=k dk iz;ksx dhft, A 

15. Giving reasons, state whether the following statements are true or false.                       6 

 (a) when there are diminishing returns of a factor, total product always decreases.  

 (b) Total product will increase only when marginal product increases. 

 (c) When marginal revenue is zero, average revenue will be constant 

dkj.k Li"V djrs gq, crkb, fd fuEufyf[kr esa ls dkSu ls dFku lR; gSa rFkk dkSu ls vlR; gSa %& 
(v) tc ßkleku izfrQy dk fu;e ykxw gksrk gS rks dqy mRikn lnSo ?kVrk gS 
(c) dqy mRikn rHkh c<+rk gS tc lhekUr mRikn c<+rk gS 
(l) tc lhekUr lEizkfIr 'kwU; gksrh gS] rks vkSlr lEizkfIr fLFkj gksrh gS A 

16. Explain the chain effect on equilibrium price and equilibrium quantity due to decrease in supply.     6 

vkiwfrZ esa deh dk larqyu dher ,oe~ larqyu ek=kk ij J`a[kyk izHkko n'kkZb, A 
OR /  vFkok  

 How will a change in price of coffee affect the equilibrium price of tea ? Explain the effect on 

equilibrium quantity also through a diagram. 

 dkWQh dh dehr esa ifjorZu] pk; dh larqyu dher dks fdl izdkj izHkkfor djsxk A ,d vkjs[k n~okjk 
larqyu ek=kk ij izHkko dks Hkh le>kb, A 
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SECTION – B   /    [k.M & c 

17. What is a barter system ?                1 

 oLrq fofue; iz.kkyh D;k gS \ 
18. What do you understand by Aggregate Demand ?                  1 

 lexz ek¡x ls vki D;k le>rs gSa \ 
19. State the two components of Money Supply ?           1 

 eqnzk vkiwfrZ ds nks ?kVd fyf[k, A 
20. What is the relationship between marginal propensity to save and marginal propensity to  

consume ?                1 

 lhekUr cpr dh izo`fÙk ,oe~ lhekUr miHkksx dh izo`fÙk esa D;k lEcU/ gS \ 
21. How is the exchange rate is determined under flexible exchange rate regime ?         1 

 uE; fofue; nj O;oLFkk esa fofue; nj dk fu/kZj.k dSls gksrk gS \ 
22. Distinguish between stock and flow between net investment and capital, which is a stock and which 

is a flow ? Compare net Investment and Capital with flow of water into a tank.        3 
 LVkWd ,oe~ izokg esa Hksn Li"V dhft,] fuoy fuos'k vkSj iw¡th esa dkSu LVkWd gS vkSj dkSu izokg\ gkSt 

esa ikuh ds izokg ls fuoy fuos'k vkSj iw¡th dh rqyuk dhft, A 
23. Suppose the GDP at market price of a country in a particular year was ì    1100 crores. Net Factor 

Income from Abroad was  ì   100 crores. The value of Indirect taxes – subsidies was ì   150 crores and 

National Income was ì   850 crores. Calculate the aggregate value of depreciation.                3 

Ekku yhft, fd fdlh fo'ks"k o"kZ esa fdlh ns'k dk cktkj dher ij ldy ?kjsyw mRikn dk ewY; 1100 
djksM+ :i;s Fkk A fons'kksa ls izkIr fuoy dkjd vk; 100 djksM+ #i;s Fkh A vizR;{k dj & minku dk 
ewY; 150 djksM+ #i;s vkSj jk"Vªh; vk; 850 djksM+ #i;s Fkh] rks ewY;gzkl ds leLr ewY; dh x.kuk 
dhft, A 

24. What is the difference between planned and unplanned inventory accumulations. Write down the 

relation between change in inventories and value added of a firm.           3 

 fu;ksftr vkSj vfu;ksftr eky&lwph lap; esa D;k vUrj gS \ fdlh QeZ dh eky lwph vkSj ewY;of/Zr 
ds chp lEcU/ crkb, A 

25. Differentiate between balance of trade and current account balance.           3 

 larqfyr O;kikj 'ks"k vkSj pkyw [kkrk larqyu esa vUrj Li"V dhft, A 
OR / vFkok 

 Difference between devaluation and depreciation of foreign exchange. 

fons'kh fofue; ds voewY;u vkSj ewY;ßkl esa vUrj Li"V dhft, A 
26. Explain any three components of capital account of Balance of Payment.         3 

 Hkqxrku 'ks"k ds iw¡th [kkrs ds fdUgha rhu ?kVdksa dh O;k[;k dhft, A 
27. Measure the level of ex-ante aggregate demand when autonomous investment and 

consumption expenditure (A) is  ì  50 crores, and MPS is 0.2 and level of income is ì  4000 

crores. State whether the economy is in equilibrium or not (cite reasons)        4 

 tc Lok;Ùk fuos'k vkSj miHkksx O;; (A)  50 djksM+ #i;s gks vkSj lhekUr cpr izo`fÙk (MPS)  0-2 rFkk 
vk; dk Lrj 4]000 djksM+ #i;s gks] rks izR;kf'kr leLr ek¡x Kkr djsaA ;g Hkh crk,¡ fd vFkZO;oLFkk 
larqyu esa gS ;k ugha (dkj.k Hkh crk,¡)  

28. What is marginal propensity to consume ? How is it related to marginal propensity to save ? lhekUr 
miHkksx dh izo`fÙk ls D;k vfHkizk; gS \ ;g lhekUr cpr dh izo`fÙk ls fdl izdkj lEcfU/r gS \ 
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OR / vFkok  
 Distinguish between revenue expenditure and capital receipts.         4 

 jktLo O;; ,oe~ iw¡thxr izkfIr;ksa esa vUrj Li"V dhft, A 
29. Are fiscal deficits necessarily inflationary ?              4 

 D;k jktdks"kh; ?kkVk vko';d #i ls LQhfrdkjh gS \ 
30. What are the instruments of monetary policy of RBI ? How does RBI stabilize money supply against 

exogenous shocks.               6 

 Hkkjrh; fjt+oZ cSad dh ekSfnzd uhfr ds dkSu ls midj.k gSa \ cká vk?kkrksa ds fo#n~/ Hkkjrh; fjt+oZ 
cSad fdl izdkj eqnzk dh iwfrZ dks fLFkj djrk gS \ 

31. Explain with the help of saving and investment curves, the equilibrium level of income in an 

economy. Is equality between saving and investment necessary for full employment ?       6 

 cpr ,oe~ fuos'k oØksa dh lgk;rk ls ,d vFkZO;oLFkk esa vk; dk larqyu Lrj Kkr dhft, A D;k 
cpr ,oe~ fuos'k dk ,d leku gksuk vk; ds larqyu dh ,d vko';d 'krZ gS \ 

OR / vFkok 
 Explain determination of national income based on aggregate demand and aggregate supply. Use 

diagram. 

 lexz ek¡x ,oe~ lexz iwfrZ dh lgk;rk ls vk; dk larqyu Lrj Kkr dhft, A js[kkfp=k dk iz;ksx dhft, A 
32. Calculate (i) GNPFC and (ii) NNDI from the following data.                      6 

fuEu vk¡dM+ksa dh lgk;rk ls lk/u ykxr ij ldy jk"Vªh; mRikn rFkk 'kqn~/ jk"Vªh; iz;ksT; vk; dk 
ewY; Kkr dhft, A                ( ì  in Crores ) 

   (: djksM+ksa esa) 
(i) Net Indirect Tax                     800 

'kqn~/ vizR;{k dj  
(ii) Net domestic fixed capital formation        500 

fuoy ?kjsyw LFkk;h iw¡th fuekZ.k  
(iii) Consumption of fixed capital         100 

LFkk;h iw¡th dk miHkksx 
(iv) Private final consumption expenditure      5000 

futh vfUre miHkksx O;; 
(v) Govt. final consumption expenditure       2000 

ljdkjh vfUre miHkksx O;; 
(vi) Net factor income to abroad          50 

fons'kksa dks fuoy lk/u vk; 
(vii) Net Exports                 ( - ) 50 

'kqn~/ fu;kZr 
(viii) Change in stock                 ( - ) 30 

LVkWd esa ifjorZu 
(ix) Current transfers from Rest of the World                    70 

fons'kksa ls pkyw varj.k 
(x) Compensation of employees       2500 

deZpkfj;ksa dk ikfjJfed 
(xi) Current transfers to Rest of the World         40 

fons'kksa dks pkyw varj.k 


